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Graph any equation below. (Let each space along the axes represent 1 unit.) The graph,
if extended, will cross a letter. Look for this letter in the string of letters near the bottom
of the page and CROSS IT OUT each time it appears. When you finish, write the letters

that have NOT been crossed out in the rectangle at the bottom of the page.
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Find each solution in the coded title. Each time it
appears. write the letter of the exercise above it.

COPED TITLE:

T A S— i S— — —— ——— — et — ———  ——aiy

-—-———.——.—_——_u-———-—_.—.._—-———-———-—..—-—.—
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© n+2=4n+17 Dsy-3=15+2

65x+9=x-23

0 2k+19=3K-1

@ s50c+2 =3x+8

Q7-6u=5u+2

®on=am-35

O oi-1=91-4

Qip+16=2p+7

@ Nine more than four times a number 0
is the same as one less than twice
the number, Find the number,

Qso+1=7-2

@ 100 - 45 = 36 - 15)

Qq-f— 14 = 8(q + 7)

94(w-6)=3(w+1)

© 2y +5) =

13y + 2

Eighty, decreased by three times a
number, is the same as five times the
number, increased by eight. Find the
number.
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DIRECTIONS: X < 6—WHO
Sclve any inequality below. In the answer column, find the =
inequality that describes the solution set and notice the word x = 3—O0VER
next to it. Write this word in the box that has the same letter as
that exercise. x < 4—HAVE
KEEP WORKING AND YOU WILL HEAR ABOUT A COLLEGE x = 22—STUDENTS
ey oy X = ~5—_CROSS
® 2(3x — 5) > 2x + 6 X < 2—EYES
82+x)=3x -9 x > 6—CONTROL
© 3¢4x —6) <7 —x X > 4—THE
® 13x — 7("2 + x) = 4x — 10 X < 1—KNOW
® 53 —1)+7<"x+30 x <3—TO
® 12 + 5x > 2(8x — 6) — 7x X < 22—HIS

@ ox — 2x =14 — 9("x — 4)

M ~4(3 — 5x) — 11x < 3x + 6

D 10x +2) > ~2(6 — %)

@72 + 2x) = 4(x — 10)

® 11 +3(C8+5) <16x — 5

© ~6(7x — 1) < ~8x + 9("3x — 4)

@ ~9x + 2(4x + 12) < 4(1 — 3x) — 13
N 7(x +4)+16 =5x — (10x — 6) ~ 6
©@12(2x +3) - 3(8 + 7x) > 0

x = "2—PROFESSCR

x = 25—SEEMED

x = 3—ABSOLUTELY

x = 25—SUBJECT

x > 8—NO

x > 1—EYED

x < 8—HELP

X

X

> —4-—PUPILS
< T4—TEACH
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Graph each equation on the grid to ite right. The graph will cross a letter
outside the grid. Write this letter in each box containing the exercise number.
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* It was revolting!




